C11MayDay3Plan.notebook

Friday (5/11/18) Day 3

ProfDaveStateMatter
Ms Michener ®

Academic Chemistry Topic: States of Matter

covalentBonding
Periods 2, 4, and 8

Labs (pd 2 and 4): Merrill p 820 - 821 procedure steps 1-9
check paper chromatography next day

*(Steps 1, 2, and 3 use 2 -3 drops instead of 1/4 or 1/2 pipet)

*(you will be using rubbing alcohol instead of ethyl alcohol)

(pd 2 and 4) due Friday (5/11/18) : single displacement/replacement
original data table
one balance equation for one observed rxn
Intro to Phase Changes, States of Matter (ppt)
« slides 1-41
« test corrections p 198
> #46e
> 48d
> 49a
« test corrections p 229
> #38c
> 39d
> 42b

States_of_Matter.ppt
&

May 13, 2018

Thursday (5/10/18) Day 2

ProfDaveStateMatter
Ms Michener ®

Academic Chemistry Topic: States of Matter

Periods 2, 4, and 8 ‘States_of_Matter.ppt

Labs: check paper chromatography
due Friday (5/11/18): single dis(re)placement
original data table
one balance equation for one observed rxn
Intro to Phase Changes, States of Matter (ppt)
o slides 1-41
« test corrections p 198
> #46e
> 48d
> 49a
« test corrections p 229
> #38¢c
> 39d
> 42b

Apr 5-3:20 PM

Wednesday (5/9/18) Day 1
Ms Michener

Academic Chemistry Topic: States of Matter

Periods 2, 4, and 8 States_of Matter.ppt
&

Lab freezing/melting point lab

Intro to Phase Changes, States of Matter (ppt)
« slides1-8

« test taking practice

Apr 5-3:20 PM

Apr 5-3:20 PM

Tuesday (5/8/18) Day 6
Ms Michener

Academic Chemistry Topic: States of Matter

Periods 2, 4, and 8 States_of Matter.ppt
&

Lab freezing/melting point lab

Intro to Phase Changes, States of Matter (ppt)
o slides1-8
« test taking practice

Monday (5/7/18) Day 5
Ms Michener

Academic Chemistry Topic: States of Matter

Periods 2, 4, and 8 States_of_Matter.ppt
4

Lab freezing/melting point lab

Intro to Phase Changes, States of Matter (ppt)
o slides1-8

« test taking practice

Apr 5-3:20 PM

Apr 5-3:20 PM



https://youtu.be/oc0ypeDELb0
https://youtu.be/ts-FuUp7b3c
https://youtu.be/oc0ypeDELb0

Attachments

EmpFormMgO.xIs
MoleTestReviewKey.pdf
SnglReplcLab.pdf
Bal.Eq.ChemicalReactions.ppt

eeP@EPE

States_of Matter.ppt



Sheet1

		Empty crucible, g		Crucible  + oxide, g		tare (weight of crucible), g		Crucible  + Mg, g		Mg, g		oxide, g		Ratio,  gMg:gO

		9.049		10.041		-9.049		9.092		0.043		0.992

		9.049		10.041		-9.049		9.092		0.043		0.992

		10.613		11.151		-10.613		11.001		0.388		0.538

		11.175		11.780		-11.175		11.619		0.444		0.605

		11.175		11.780		-11.175		11.619		0.444		0.605

		11.823		12.342		-11.823		12.231		0.408		0.519

		11.971		12.645		-11.971		12.412		0.441		0.674

		12.293		13.150		-12.293		12.853		0.560		0.857

		12.314		13.000		-12.314		12.895		0.581		0.686

		12.699		13.334		-12.699		13.192		0.493		0.635

		12.699		13.334		-12.699		13.192		0.493		0.635

		12.832		13.423		-12.832		13.215		0.383		0.591

		12.887		13.524		-12.887		13.375		0.488		0.637

		12.887		13.524		-12.887		13.375		0.488		0.637

		12.887		13.524		-12.887		13.375		0.488		0.637

		13.001		13.651		-13.001		13.411		0.410		0.65

		13.001		13.651		-13.001		13.411		0.410		0.65

		13.031		13.666		-13.031		13.461		0.430		0.635

		13.125		13.750		-13.125		13.625		0.500		0.625

		13.125		13.423		-13.125		13.625		0.500		0.298

		13.156		13.752		-13.156		13.523		0.367		0.596

		13.156		13.752		-13.156		13.523		0.367		0.596

		13.239		17.411		-13.239		17.208		3.969		4.172

		13.239		17.411		-13.239		17.208		3.969		4.172

		13.450		14.113		-13.450		13.850		0.400		0.663

		13.450		14.113		-13.450		13.850		0.400		0.663

		15.500		16.100		-15.500		15.930		0.430		0.6

		15.553		16.102		-15.553		15.935		0.382		0.549

		15.650		16.031		-15.650		15.954		0.304		0.381

		17.940		18.548		-17.940		18.389		0.449		0.608

		24.780		25.970		-24.780		25.150		0.370		1.19

		13.2499677419		14.1302258065		-13.2499677419		13.8900322581		0.6400645161		0.8802580645
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CHENILAB ) Small Scale
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Activities of Metals

ome metals are more reactive than others. By comparing how dif-

ferent metals react with the same ions in aqueous solutions, an
activity series for the tested metals can be developed. The activity
series will reflect the relative reactivity of the tested metals. It can be
used to predict whether reactions will occur.

Problem Objectives " Materials

Which is the most reactive » Observe chemical reactions. . 1.0M Zn{NO;}, Al wire
metal tested? Which is the « Sequence the activities of 1.0M AINO3); Mg ribbon
least reactive metal tested? some metals. 1.0M Cu{NO;), Zn metal strips (4)
Can this information be used - » Predict if reactions will . - 1.0M Mg(NO3), emery cloth or fine!
to predict whether reactions occur between certain pipettes (4) sandpaper
will occur? substances. ; wire cutters 24-well microscale
Cu wire reaction plate

Safety Precautions

ﬂ E @ m E * Always wear safety goggles and a Iab apron.

* Use caution when, using sharp and coarse equipment.

Pre-Lab Procedure

1. Read the entire CHEMLAB. 1. Use a pipette to fill each of the four wells in col-

2. Make notes about procedures and safety precau- umn 1 of the re.action plate with 2 mL of 1.0M
tions fo use in the laboratory. AI(NO;); solution.

3. Prepare your data table. . Repeat the procedure in step 1 to fill the four well
' in column 2 with 2 mL of 1.0M Mg(NO,), solutio

Reactions Between Solutions and Metals . Repeat the procedure in step 1 to fill the four wells§

AI(NO;); | Mg(NO3), | Zn(NO,), | Cu(NO,), in column 3 with 2 mL of 1.0 Zn(NOy), solution:§

. Repeat the procedure in step 1 to fill the four well‘s_;g
in column 4 with 2 mL of 1.0M Cu(NO;), solutio

. With the emery paper or sandpaper, polish 10 cm§
Zn of aluminum wire until it is shiny. Use wire cut
ters to cut the aluminum wire into four 2.5-cm
pieces. Place a piece of the aluminum wire in
each row A well that contains solution.

Al

Mg

Cu

4. Form a hypothesis about what reactions will occur. , )
. Repeat the procedure in step 5 using 10 cm of

magnesium ribbon. Place a piece of the Mg ribb

. What gas is produced when magnesium and in each row B well that contains solution,
hydrochloric acid react? Write the chemical equa-

tion for the reaction.

. What are the independent and dependent variables?

. Use the emery paper or sandpaper to polish smal
strips of zinc metal. Place a piece of Zn metal in-

. Why is it important to clean the magnesium rib- each row C well that contains solution.
bon? How might not polishing a piece of metal
affect the reaction involving that metal?

300 Chapter 10 Chemical Reactions
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Activities of Metals

ome metals are more reactive than others. By comparing how dif-

ferent metals react with the same ions in aqueous solutions, an
activity series for the tested metals can be developed. The activity
series will reflect the relative reactivity of the tested metals. 1t can be
used to predict whether reactions will occur.

Problem Objectives ~Materials

Which is the most reactive » Observe chemical reactions. , 1.0M Zn(NO3}, Al wire

metal tested? Which is the * Sequence the activities of 1.0M AI(NO;); Mg ribbon

least reactive metal tested? some metals. 1.0M Cu{NOs), Zn metal strips (4)

Can this information be used o Predict if reactions will , 1.0M Mg(NO3), emery cloth or fine

to predict whether reactions occur between certain pipettes (4) sandpaper

will occur? substances. § wire cutters 24-well microscale .
g Cu wire reaction plate

i
il
'

Safety Precautions

sk ﬁ E @ E_a E * Always wear safety goggles and a lab apron.

¢ Use caution when, using sharp and coarse equipment.

Pre-Lab Procedure

1. Read the entire CHEMLAB. 1. Use a pipette to fill each of the four wells in col-
2. Make notes about procedures and safety precau- umn 1 of the re.action plate with 2 mL of 1.0M
tions to use in the laboratory. AI(NO;); solution.

3. Prepare your data table. . Repeat the procedure in step 1 to fill the four well
' in column 2 with 2 mL of 1.0M Mg(NO,), solutio

Reactions Between Solutions and Metals . Repeat the procedure in step 1 to fill the four wells}

AI(NO); | Mg(NOy), | Zn(NO;), | cu(wo,),

. Repeat the procedure in step 1 to fill the four wells'§
in column 4 with 2 mL of 1.0M Cu(NO,), solutan

. With the emery paper or sandpaper, polish 10 cm?
Zn of aluminum wire until it is shiny. Use wire cut
ters to cut the aluminum wire into four 2.5-cm
pieces. Place a piece of the aluminum wire in
each row A well that contains solution.

Al

Mg

Cu

4. Form a hypothesis about what reactions will occur. , )
. Repeat the procedure in step 5 using 10 cm of

magnesium ribbon. Place a piece of the Mg ribb

. What gas is produced when magnesium and in each row B well that contains solution,
hydrochloric acid react? Write the chemical equa-

tion for the reaction.

. What are the independent and dependent variables?

. Use the emery paper or sandpaper to polish small
strips of zinc metal. Place a piece of Zn metal in

. Why is it important to clean the magnesium rib- each row C well that contains solution.
bon? How might not polishing a piece of metal

affect the reaction involving that metal?

300 Chapter 10 Chemical Reactions






Lot gVINIHD

‘sajenu

J0o $108dWI TRIUSWUOIIAUS OT) JO JWOS QUS| T

4. Syuat
-9[° JO SALIS B JO SIIIUIPU) ANATIOB DY) MOWY

01 Juelodurr 99 11 JYSTUT S9OURISWNITID Jeym I3pU[) "B

Ansnuay) plom-leay

BuIpo| aAlpe
auIwolg }sea
auLo|yYd aAIe

aupion|4 ISO -

SN3IDOTVYH

p|oD anpe
wnune|d 1sea
18A15
J9ddoy
pee
ui
1932IN
uol|
Julz
asauebuey
wnuiwnjy
wnissubelp
wnipos
wnpped
wnissejod :
wnipigny aAne
wniyn I1soiN
STV1IIN

“JUAWRIFRSIP A J0] uosear & asodoid ‘mofoq wiead
-BIP 91 UL ISPIO 9Y1 1A 23188 J0U se0p paouanbas

no& saTIes AJTATIOR 9 JT

' “CON)ad pue n) "

“CON)IN pue 3V 'q

“*ONJus pue e} e

_ NI20 [[IA JEY) TOTIORAI o8

I0y norenbe [eIIOYD € LA “SIUBIORSI FUTMOTOF
9} TA9MIR] INDD0 (1M uonoeal Jusmdae|do-o[Fuls

® Jr101paxd 01 mofaq weiSerp sy o)) Buigdipald *

‘oyerd uonowal moA uo
po1md20 Jey) uonoeal juswdordar-aSurs gors Joy

uopenba [eotwayd ® a1ipy sydaduo) Buikjddy -v

aY1INGHD 0L H3LdVHD

6S[elou

2331} JO IOPIO Y] YILa dredwiod PIsa) nok syeyo: i
INOJ 91 I0] PAUTLLIANIP NOA JOPIO O} S0P Moy
2197 UMOTS SOLIOS AITAIIOR U I SOLIOS AJTanop
moA aredwio) Bunsesjuo) pue ﬁu!mdu.m;
"JATIOR ISBI] Y] 0] JATIIL 1SOW Y] mo;i
S]EJOUI-INOF A} JAPI() “SUONNIOS 1SIMIJ O} Yhim
POIOBAI [EISUT DAIIE ISR ST, 'SUOLINJOS 150U 3y

I PaIoBal [BI9UI SATIOR 1SOUT YT, Bunuanhag

LOATIORDI JSOW O ST [Rlow :
UOT A\ (STUOTINTOS 1SMQJ AU} YA PI)OBal [Blowm
UOTUA\ (,SUOTIN[OS JSOUI Y3 YA P2IORAI [B1ow

O A4 (IND00,SUOTORAI [ed1Ltd pIp otefd uonoea;

oY) Jo srom oA ul Bupaiaguy pue Buialasqg v

apnPuo) pue azfjeuy |

"qey
oy eA};e{ noA 210§2q ATy3nosoy spuey moA ysem

i

“a0eyd
JQdO.Id SI 03 31 wampar pue juawdinbe 1ok uesr)

i J20BA] INoA Aq
pa:oolrp S SuonNIos pue s[edmrayo [[e Jo gsodSI(]

fesodsig pue dnueap

"opelr nok
3[q®) BIBP SY) UO SUONBAIISQO INOA PIOIAI “San
~UFUT QALY ISV '[[90 yoea ur suaddey 1eym 2A13sqQ) 6

"LOTIN[OS SUTLIUOD TR} [[om
(1 MOI yoes ul altm ) Jo 209d B apelg "arm Jad
-doo yo wo (] Sursn ¢ doys ur ampasoud oy jeaday '8






LOE aviIWIHD

"SOIRNTU

Jo s1ordull [RJUSWUOIIAUD 9Y) JO SUWOS SqLIS(] "2

¢ syt
-3[3 JO SSLIAS B JO SAIouapua) A)ATIR oY) mouy

03 JuerioduIr 99 11 JYSIW SIDURISWNDIID JRYM JSpU[] "B

Ansiway) ppom-jeay

aulpo) aalpe
auviwo.g isea
aulo|yDd anpe
auLiongy ISOIAl

SN3IDOIYH

plon aAape
wnue|d 1sean
A3A1IS
Jaddod
pe=1

utL

123N

ucy|

_ wz
asauebuey
wnujwny
wnissubepy
wnjpas
wned
wnissejod .
wnipigny aAnoe
NIy ISCOIN
STIV1IN

JUSOAISESIP 2y Jof uosear v asodoxd ‘moraq uresd
-BIp O} UL J3pI0 9} [PIm 391 J0u $30p paouanbos

no4 SIS AJIATIOR 9] J]

' “*ON)ad pue n) -

“*ON)IN pue Sy 'q

“oNus pue e) "R

M220 [[1A T8} UOTIORAI Yok

10] uonenbd [eoNuayo B SYLIM ‘sIURIORAT SULMO[IOF
) U29A19Q INO00 14 Honoeal Jusureoedor-oj3urs
© J1j01pard 01 mojeq weiSeip oy os) BupdIpaid
"arerd uonoear mok uo

PaLIMa00 Jey) uonoeal Juauase[dar-o[Surs yoes 103

uorenbo eOTOYo € S sydeduo) Bulkjddy v

3sa) JO I0pIO d) LM Aredwod palsd) nok syejoy;

10T A JO PIULULINAP NOA JOPIO 31} SI0p MO}y

"0I9T UAOUS SILI9S AJATIOR S} (I SILIOS Aanoe 3 '
ok sredwo) Bunsenuoy pue ﬁlll.ll!dl.llo)
"IATO ISBA] O 0) QA0 ISOUI A} twioxy
$[E1OUL-INOJ S} IOPI() *SUONN[OS ISIMA] 3} Yrim

_ PAI0RAI [PIST SAOR JSBI] 1YL, "SUORAJOS ISOUI Arpy

UIEA PRIORSI [B1OUT QANJOR Jsoul 24T, Auduanbag -

{PATIONAI 1SOW Y} ST [elow -

YONAL (SUONIN[OS 159MIJ A YITM PIJORAI [Rlow *

YOI A\ {SUOTINIOS JSOUI OY) Y31 PAISEa] fejour

YOG (7200 SUOTORAT [EOTWAYD PIp a3e[d tonowar .

S O sfPm Yoy U BuplIdgu] pue Buiaasqg -

apnpuo) pue azhjeu;

Ll
ay QAI%QI noA 9.10;9q A[y3nozow spuey oL ysep

3 ooed
radoid s11 0111 wma1 pue Juswdmbe o4 uest) -

1 "I910R2) o4 Aq
pR1oaIIp se suoun[os pue sredimago []je Jo ssodsi(g -

|esods!a pue dnueaj

"9pell noA

3[qe1 BIEp 9U1 UO SUOTIBAIISQO INOA PIOIAI ‘san
-ULWI QAT IOV ‘790 yoea ur susddey jegm 2a10sqQ -

"UOTINJOS SUTRIUOY JBY) [[om

(I AOI DD UL 231s 1) Jo 20a1d ® oge[g "anm 1ad
~dod jo um g1 Sursn ¢ days ur aanpooosd ayp eaday -






g gvINIHD

383} JO JAPIO A1 M aredumros
1103 94} 10J POUTUIINISP NOL Jopi
QIaY UMOYS SalIes A1IATIO oy gy T .
soyE anof axedwio)) Bunsenuo) puw iljl'i i
30 s)0eduI [PIUCTIUOIIATS AU} JO SWOS AQLIDSS(] "Z "GATIOR ISBI[ 9} 0} ATIOR § '
4 s1uom S[EJOWU INOF 3Y) IAPIQ) "SUCHN|OS 1535
-9] JO SALISS B JO SAIOUIPUL) ANANDR S MOUY PRIOBRT [BIOUL DANIOR 1SBA] 3T, suoymy
01 Jueprodur 9q 31 WS SAOULISWIIID JBYM IOpU[) b

$9ATIORA 1s01y.

YOTYAN (SUOBMIOS ISIMD] 2U) (IIM pay
UOTUAN {SUOTINIOS ISOU ST} Y1 pa

YOI A\ {NNO00 SUOKIORAT [EOTAYD PIp oy

Ansiwiay) propm-jesy

BuIpo| BAIDE
sulwoig |- 15857
aulo|YD aADE
aulon|4 150

SNI901YH

ploo ane
wnuize|d : sean

J=A1S

1addon

pea

ulL

122N

uol|

Julz

asauebuely

wnuwn)y

whnisaubely

wnipos

whnped
wn|sse1od -
wnipigny anpe
wniyan 1son
STV1IN

JUSUIAAITLSIP a3 J0] uoseal ¢ asodord ‘moraq wresd
-RID 1) UL JapI0 29U} Y1 93188 JOU S0P padusnbas

NOA $9LI98 KJTATIOR 2 J] .
' “toN)ad pur n)
HONDIN puz 8y g
“CON)us pue &) e

IN290 [[14 JEU} TOHOBaI YOra
Jo uonenbo [eOIwaYD v a)lp sjuelorol Suimoryoy
A} 913G INID0 [[IM UOLORAI Jusmaor[daI-o1Surs
B J1101paId 0} moTeq WeISeIp o) a5 Bunapaid
arerd vonoeal oL uo
PoLINd20 JeY) uoToRar JusuRor[dal-o[Surs yous 1oj

uonenbs Teoroyd € Aty spdasue) Huihiddy v

SYTINIHD OL H3LdVHD






SMART Notebook




Chemical Reactions







		Chemical reaction

		Process by which atoms of one or more substances are rearranged to form different substances

		General Rule’s to determine if a reaction has taken place:

		Temperature change (gain or loss)

		Color change

		Odor

		Formation of a gas

		Formation of a percipitate









		Chemical reactions can be written in two forms:

		WORD EQUATION

		Hydrogen gas reacts with oxygen gas to produce liquid water 





		CHEMICAL EQUATIONS

		Use chemical symbols and chemical formulas to describe a reaction

		          H2(g)  +  O2(g)    H2O(l)





           







		       CH4(g)  +  2O2(g)    2H2O(l)  + CO2(g)

		             REACTANTS SIDE            PRODUCTS SIDE

		Symbols of the atoms in the compounds

		Subscripts to tell how many atoms of each element are in each compound

		Coefficients to tell the number of each of the compounds used or produced in the reaction

		+ on reactant side means: reacts with

		+ on product side: in addition to

		  yields, produces, forms

		(s) solid        (l)  liquid        (g) gas

		(aq) aqueous (dissolved in water) 

		(cr) crystalline       (t) tincture (dissolved in alcohol)





		









		Skeletal Equation

		A chemical equation that simply shows the substances involved in a reaction without conserving the Law of Conservation of Matter

		Balanced Chemical Equation

		A chemical equation that shows the substances involved in a reaction while conserving the Law of Conservation of Matter













Steps for Balancing an Equation

		1. Write the skeletal equation

		2. Count the atoms of each element in the reactants

		3. Count the atoms of each element in the products

		4. Change coefficients to make number of atoms of each element equal on both sides (never change subscripts of compounds)

		5. Write coefficients in lowest whole number ratios

		6. Check your work









		             H2  +  O2    H2O









		         C3H8  +  O2    CO2  +  H2O









Classifying Chemical Reactions

		Synthesis Reaction

		A reaction that has two or more substances forming ONLY ONE new substance

		Remember: a substance can be an element or compound

		General form:

		A  +  B   C









Classifying Chemical Reactions

		Synthesis Reaction

		A reaction that has two or more substances forming ONLY ONE new substance

		Remember: a substance can be an element or compound

		General form:

		A  +  B   C

		Example:  H2 + O2  H2O









		Decomposition (Analysis)

		ONE reactant decomposes (breaks down) into two or more new substances

		General form:

		A   B  +  C

		Example:

		CaCO3    CaO  + CO2









		Single Displacement (replacement)

		One single element on the reactant side changes places with the same charge ion in a compound in the reactants to form a new product compound and one different single element

		General form:

		A  +  BC    B  + AC  

		A  +  BC    C  + BA

		Examples:

		Li + NaOH    Na  +  LiOH

		F2 + 2NaCl    Cl2  + 2NaF









		Double Displacement (replacement)

		Positive and negative ions from two reactants exchange places and from two different compounds

		General form:

		AB  +  CD    AD  +  CB

		Example:

		NaCl  + AgNO3    NaNO3  +  AgCl









		Combustion

		A substance containing C and H  or C,H,O reacts with O2 to always form CO2 and H2O

		General from:

		CnHn + O2    CO2  +  H2O

		CnHnOn + O2    CO2  +  H2O



		Example:

		CH4 + 2O2    CO2  +  2H2O

		C6H12O6 + 6O2    6CO2  +  6H2O









		Not all reactions as written take place

		Single and double displacement reactions can be determined by using charts

		Reactivity series for single

		Solubility for double
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Kinetic Theory

		Explains effects of temperature and pressure on matter

		All matter is composed of atoms, ions or molecule	-particles of matter are in constant motion

		Collisions between particles are perfectly elastic

		No change in Kinetic energy

		Energy between particles is transferred

		Happens spontaneously

		High energy transfers to low energy until equilibrium exists

		The distance a particle travels before it collides with another is the MEAN FREE PATH









Pressure

		Effect best described using gases

		Place gas  molecules in closed container

		What happens diagram

		Particles collide with each other

		Particles collide with sides of container

		Collisions with container transfer energy

		Exerts a force

		The force created and the # of collisions causes PRESSURE





		











		Air around us exerts pressure

		Different every day

		Scientists have therefore agreed on a Standard of Pressure at sea level

		101.325 kPa (kilopascals)

		760mmHg, 14.7psi, 1 ATM

		1kPa = 7.501 mmHg











		Measure pressure

		Use a Manometer

		2 types

		Open type

		  atmosphere exerts pressure on a column of liquid (usually Hg) in a U-tube

		Gas studied is connected to tube on other side of column

		Difference in pressures causes the Hg column to rise or fall

		Difference in heights of Hg in U-tube is pressure difference











		Closed type

		Called a BAROMETER

		Atmosphere exerts pressure on a pool of Hg which has a sealed vacuum tube inserted into it

		Tube has a calibrated scale to read the height the Hg will be pushed up the column by the air pressure 

		Measured in mm  (mmHg)

		Standard Pressure will support a column of Hg 760mm at sea level

		Used to calculate actual or ABSOLUTE gas pressure if atmospheric pressure is eliminated











		Absolute pressure calculation



		Atm. Press = 101.3kPa

		If a gas exerts a pressure in an open manometer so the difference in heights is 26.0mm higher on the gas side, what is the gases pressure?



		 26.0mm  1kPa        =  3.47kPa



              7.501mm



101.3kPa – 3.5kPa = 97.8kPa gas pressure



Hon. Read pg.378-382 pg.382 #1-8















		Physical state of matter describes properties of that matter in that state

		State at room temp. & Std.press. depends mostly on bonding in substance

		Ionic- strong charges hold particles together

		Molecular- Van der Waals forces

		High mass usually solid

		N.P. tend to be gases if low mass

		Greater polarity tends to form liquids and solids

		Particle arrangement is important for state











		Solid state

		Definite shape and volume

		Particles occupy fixed positions

		Particles arranged in definite patterns

		Particles vibrate around the fixed points









Liquids

		Distance between particles allows them to slip past each other

		No fixed positions

		Particles appear to vibrate around moving points

		No definite shape- takes container shape

		Has specific volume 









GAS

		Large distance between particles

		Particles can travel in completely RANDOM manner

		No fixed shape

		No fixed volume

		Gas will fill whatever container is present















Temperature and Kinetic Energy

		Most studies of temperature effects are performed on gases

		Speed of gas particles depends on 

		Temperature of gas

		Mass of gas particle

		K.E. is energy of motion

		KE = ½ mv2   











		Particles are in constant collisions with other particles

		Therefore there are many different KE of the particles in a sample

		Take the KE of each particle and find the average energy. 

		Possible?

		So how do we determine the KE of a sample?

		Indicate avg. KE using TEMPERATURE











		Particles are elastic

		No KE is lost because the energy is always transferred between colliding particles

		ENERGY is CONSERVED

		Does the mass of a sample of matter change?

		So what does a decrease in temperature mean

		Particles must be moving slower

		Increase in temperature?

		Particles increase speed

		











		Two substances with same temp. have same K.E.

		Does not mean they have same average velocities

		KE = 1/2mv2

		Less massive particles move faster than more massive



		In theory it is possible to lower the temperature where all molecular motion ceases

		ABSOLUTE ZERO



-273.150C

		Use Kelvin temp. scale 



00K

K = 0C + 273















		Use temperature to determine the flow of energy

		Energy spontaneously flows from warmer (high energy) to cooler (low energy) objects

		When particles collide they transfer their energies until equal

		Transfer of energy is called HEAT

		Measured in joules (J)









Solids

		Study of crystals

		All true solid structures are crystalline

		Crystal

		Rigid body

		Repeating pattern of units of that substance

		Particular geometric pattern

		Repeating pattern called a UNIT CELL

		Arranged in 3D  LD 1347

		Chemical bonding between particles in unit











		All crystals of one substance have the same Intensive physical properties

		Corresponding face angles of 2 crystals of same substance are the same

		Repeating pattern and 3D arrangement determined by chem.bonding between particles

		Ionic cmpds. principally by ratio & radii of ions

		3D repetition of unit cells is a SPACE LATTICE  LD 1348

		14 types of unit cells LD 1349-50













Unit cells

		Ionic compounds

		Pos. ions need to be large enough to not allow neg. ions to make contact with each other and  vice versa

		Positioning allows for max. # of ions to be in immediate surrounding 

		6,8 or 12 neighbors













		3 simplest 3D cells

		Simple cubic

		6 neighbors, 8 total  LD 1351

		Body-centered cubic

		8 neighbors, 9total

		Face-centered cubic

		12 neighbors, 14 total















Closest packing



		Arrangement of atoms of elements

		Hexagonal closest packing(hcp)

		Spheres are closest packed so spheres in 3rd layer are directly over those in 1st layer   LD 1359-63



		Cubic closest packing

		Spheres in 3D are rotated 600 with respect to those in first layer 









Crystal defects



		Dislocations

		2 crystals join together, atoms not perfectly aligned

		Due to missing ions

		Impurities

		Foreign atoms or substances embedded in a lattice

		DOPED- impurities deliberately added

		Semi conductors

		Usually silicon or germanium with arsenic











		Amorphous materials

		Solid but not crystalline

		Disordered arrangement of particles( lack log-range order as in a pure crystal)

		Long lasting form is said to be metasable(glass)

		Do not melt from solid to liquid

		Become more viscous

		Resistance to flow



		











		Allotropes

		Different forms of the same elements



		Atoms in unit cell are arranged differently due to how many atoms they share their e- with



		Graphite and diamonds

		Graphite shares with 3 C atoms	

		Diamonds share with 4 C atoms









Liquids

		Particles slip over each other

		Freezing

		When temp. & pressure are low enough to stop slippage 

		All true liquids have a definite M.P  and F.P.









Vapor

		Gaseous state of a solution that is normally liquid or solid at room temp. (250C)

		If vapor is contained in a sealed container and is opened, there is little chance the vapor would reunite with the liquid or solid form

		Closed container contains a different set of conditions

		In a closed container a point is reached where the # of vapor particles produced equals the # returning to the liquid or solid state

		Therefore a constant  number of particles remain in the various states

		The gas particles strike the containers sides causing pressure











		At this point a EQUILIBRIUM exists

		There is no net change in the # particles in all present phases

		Since there are opposing changes (two or more different states) occurring at the same rate  this is referred to as a DYNAMIC EQUILIBRIUM

		When equilibrium is achieved, the gaseous state is to be saturated (holds all the vapor it can at the surrounding conditions of temp. and pressure)













Physical Change of Liquid to Vapor Equation

		X(l)    X(g)     X = vaporizable substance

		X(l)    X(g)

		X(l)  >  X(g)  reversible change equilibrium



		This happens at a specific Pressure and Temperature*

		*remember the gas will produce a pressure in a closed container











		A change in temperature will cause the equilibrium to shift to the liquid or gaseous state to accommodate the change

		LeChatelier’s Principle

		If stress is applied to a system at equilibrium, the system will  tend to adjust so that the stress is reduced

		Stress is defined as a change in Temperature, Pressure, Concentration or other external forces

		Example:

		Lab: Heat of Fusion of Ice.  Warm water-intro cold ice.



    Shift in equilibrium of ice and liquid as Temp. shifted and equilibrium was reached







Measuring Vapor Pressure

		Use closed manometer exposed to substance under study

		Measure pressure vs. temperature (constant)

		Example:

		H2O has 3.1672kPa at 25.00C

		Substances with low vapor pressure (do not evaporate quickly) have strong intermolecular forces (water)

		High vapor pressure have weak forces (alcohol)

		Ionic compounds do not exert significant vapor pressure due to interionic forces too strong to overcome (NaCl)











		Other liquid properties

		Melting Point (M.P.)

		Temperature at which the vapor pressure of solid and vapor pressure of the liquid states are equal

		Sublimation- substances changes directly from solid to gas

		Deposition- substance changes directly from gas to solid

		Boiling Point (B.P.)

		Temperature at which the vapor pressure is equal to standard atmospheric pressure (101.325kPa)

		Liquefaction of Gases

		Must  have Pressure an a Critical Temperature (Tc)

		Tc- max. temp. at which liquid can exist

		Above this temp. substance will not liquify











		Pressure forces molecules close together

		London forces take effect

		Van der Waals forces can now take effect (short distances)

		Temp. reduction causes the molecules to lose K.E.

		Attractive forces are now sufficient to cause molecules to bind with Van der Waals



		Phase Diagram

		Diagram which shows how states of matter in a system are affected by change of Pressure and Temperature

		Triple Point

		When all three states of a substance exist simultaneously in equilibrium at a specific Pressure and Temperature















Energy and Changes of State

		During a state change, energy is directly being used to break bonds or being given off as bonds form

		Maintains a constant temp.

		Each type of phase change has a given name  (LD1388)

		State changes can be graphed onto a HEATING CURVE















Enthalpy of fusion

		Energy required to melt 1.0g of a specific pure substance at its M.P.

		Represented by DHfus



		Water   DHfus(H2O) = 334J/g









Enthalpy of Vaporization

		Energy required to vaporize 1.0g of a specific pure substance at its vaporization point

		Represented by DHvap



		Water  DHvap(H2O) = 2260J/g











		q= DHm



		q = mDTCp



		Both equations are necessary to calculate the energy required for a substance to increase temp. and change state







35 STATES OF MATTER

Particles of a gas travel in a completely random manner;
‘particles of a liquid appear to vibrate around moving
points; and particles of a solid appear to vibrate around
fixed points.





34 TEMPERATURE AND
PARTICLE MOTION
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Teaching Transparency | Phase Diagfams

A

Use with Chapter 13, Section 13.4

Phase Diagram for H,0

217.75 B
Critical
pressure

1.00 |

Pressure (atm)

0.00 100.00 37399

Temperature (C) Critical
temperature




38 ENTHALPY OF FUSION AND VAPORIZATION
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| PRACTICE PROBLEMS

1. An open manometer, such as the one in Figu
with mercury and connected to a container ofhy
mercury level is 62 mm higher in the arm o
nected to the gas. Atmospheric pressure is 9
the pressure of the hydrogen in kilopascals?

2. A closed manometer, like the one in Figur
the left with mercury and connected to a container of
e in the difference in the height of mercury in the twe
ter, mm. What is the pressure of the nitrogen in

e 3. An open manometer connected to a tank of arg
cury level 38 mm higher in the atmospheri
spheric pressure is 96.3 kPa, what is the p
argon in kilopascals?

4. A closed manometer is filled with mercury and
a container of helium. The difference in the he
cury in the two arms is 86.0 mm. What is the
kilopascals, of the helium?

rEVIEW

«c assumptions of the ki- 8. Apply Normal human blood p
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